Tuesday Problem-solving and Reasoning
Problem-Solving
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Which image does not represent
339-8?
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Rosie has added or subtracted ones to
get this answer.

Hundreds Tens Ones

What could her calculation have been?

Her starting numbers are between and
include 340 and 350

Did you use a strategy?
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2.

Whitney has 125 stickers.

She gives less than 10 stickers to Eva.
She has an odd nuraber of stickers left.
How many stickers might Whitney have
given away?
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3. Complete the missing digits.
13[]-50=85
334-[J0=294

545 =6[]5-70
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Spot the Mistake

589 — 70 is equal to 582

Amir

What should the answer be?
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Alex thinks the chart shows 456 - 4
Do you agree?

Hundreds Tens Ones

Explain why.




